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| S h 14x1=14
1. Choose the correct answer: ‘ o '
1. If n(A) = p, n(B) = q, then the total number of relations that exists between AandB
is
. a) p b) 2°+ c) 2° d) o
2. Ifn(Ax B)=6andA={1,3}, then n(B) is "
a) 1 b) 2 )3 . d)
3. Ift is the n'" term of an AP, then the value oft,, —t. 1S
a) d b) 2d c)3d _ d) 4d A
4. The sum of the exponents of the prime factors in the prime fac;to;nzatlon o] is
' : s
a) 1 b) 2 c) 3 .
5. |f x—6 is the HCF of x? — 2x — 24 and x2 — kx — 6 then the value ofkis
a) 3 b) 5 c) 6 d) 8
6. Graph of a linear polynomial is a ‘
a) straightline b) circle c) parabola d) hyperbola
7. fAisa2x 3 matrixand Bis a 3 x 4 matrix, how many columns does AB have
a) 3 b) 4 c)2 d) 5 |
| 8. In the adjacent figure [BAC = 90° and AD1BC, then -
\ \ # ‘
l |
a) BD.CD = BC? b) AB.AC ='BC?
’ ¢) BDCD=AD?  d) ABAC=AD?
‘ VA B AT

9. Aman walké near a wall, such t'hat the distance between him and the wall is 10
units. Consider the wall to be the Y-axis. The path travelled by the man is

a) x=10 b) y=10 c)x=0

d) y=0

2. 2
d) X -Y-=0
) FE

10. If x = atan0 and y = b sec9, then
2.9 s 2 2 2 2
y x=ra X yo.o© X y:
a) S5~"50n b) 5 -5=1 c) 5 -5 =1
b2 a2 ) a2 b2 ) a2 b
11. The curved surface area of aright circular cone of height 15 cm and base diameter
16 cm is
a) 60 n cm? b) 68 © cm? c) 120 n cm?

d) 136 n cm?

12. The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same

diameter and same height is :
a) 1:2:3 by 2:1:3 - Te)y1:342

3z+5is

d)y 3:1:2

13. iati
If the standard deviation of X,y,.Z ils p, then the standard deviation of 3x + 5, 3y + 5,

a) 3p+5 b) 3 l
N p .
14. Which of the following is incorrect?

a) P(A)>1 b) 0<PA) <1 c)P() =0

c)p+5

)

d) 9p + 15

d) P(A)+P(A)=1
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2) ‘ X Mathsr
v Part - Il 7= 20;
Il. Answer any 10 questions: (Ques.No.28 is compulsory) 10x 220

* The Cartesian product A x A has 9 elements among which (~1,0) and (0,1) are,
found. Find the set A and the remaining elements of A x A.

16/1 Represent the function f(x) = m as a composition of two functions.

1f7~./C‘:ompute Xsuch that 104 = X(mod 19)
18. Find the 8" term ofthe G.P. 9,3, 1.

2
19./Z=ind the excluded values of the expression Xt6x+8

X< 4+x-2
20. If the difference between anumber andits r

23'/?”/\:(0 4 9]|B=[7 3 8

8 3 7 1 4 gj,ﬁndthevalueof:BA—QB

271 Find the length of the tangent drawn from a point whose distance &om the centre of
acircle is 5 cm and radius of the circle is 3 ¢m.

23. Inagarden containing several trees, three particular
following way Bp = 2 m, CQ=3m,RA =10 m, P

where A B,C are points such that P lies on BC, Q lies on
whether the trees P.Q,R li

eciprocal is 24, find the number.

AC, R lies on AB. Check \q

%
€ on a same straight line. 4 %
24. The hill in the form of a right triangle has its foot at (19,3). The inclination of the hill W2
to the ground is 45°. Fing the equation of the hill jo

ining the foot ang top. \0\

Z{ﬁ From the top of arock 5043 m high, thgjbpgle of depre

ssion of a car on the ground }
IS observed to be 30° m the rock. q6
o/ oM, then find its slant height ha

Ose base arej js 250 m2,

- ac) ¢ }
Part - 111

. : L -_ 9 . i o .
(F) is defined by t(C) = F where F = 5C+32, find (i) t(0) (ii) t(28) (iii) t(-1 0)

(iv) the value of C when t(C) = 212 iy
(V) The temperature whe

\ \
N the celcius value is equal to the Farenheit value. - %'L
30N If f(x) = 2x + 3,9(x) = 1-2xand h(x) = 3x. Prove that fo(goh) = (fog) oh ' 4;‘
31. Prove that 2n + Bx9is always divisible by 7 for any positive integer n \q’o
32,18, = (x + y) FOTEXY Y+ (6t xty gz gy :

N terms, then pProve that
(x-y) S, = w_w (_;{(ln’\b AD AN
33 Find t\he GCD of 6x?

Yo s, Wk B N

- 30x2 + 60x — 48 a:d 3x3
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p— < B ‘_l--..........IIIIII----___
\
. ' AMaths ~
z (3)
6

\34 If %4 A 1—3 +5141 is a perfect square, find the values of mand n.

357 State and prove Basic proportionality theorem. ' , or
367"From atop of a 12 m high building, the angle of elevation of the tor:hoef ?1 :;t:f;?me
is 60° and the angle of depression of its-foot is 30°. Determine
tower. . : -
37. From the solid cylinder whose height is 2.4 cm and Filameter 1.4 crrfn. a ;’J:)enalcgfl
cavity of the same height and base is hollowed out. Find the tatal surface
the remaining solid. : ;
38. Wateris flow?ng at the rate of 15 km per hour through a pipe of dlamete_r 14hc_:rr;1 I'[:Z
a rectangular tank which is 50 m long and 44 m wide. . Find the time in whic
‘level of water in the tanks will rise by 21 cm. '
307"Find the coefficient of variation of 24, 26, 33, 37, 29, 31 _ )
400 A'card is drawn from a pack of 52 cards, find the probability of getting a king or a
heart or a red card. :
4/{7 If sin® + cosB = p and secH + cosech = q, then prove that q(p?— 1) = 2p v

'1_"0
17 )
52 9 _ ;
g\ if A= B=|1 2| \erify that (AB)T.= BTAT , 4o
12 8 5 _1 A
.Part-1V
Note: Answer both questions choosing either of the alternatives: 2x8=16

43. a) Apassenger train takes 1 hour more than an express train to travel a distance
of 240 km from Chennai to Virudhachalam. The speed of passenger train is
less than that of an express train by 20 km per our. Find the average speed of |

_ both the trains.
(on) |
b)" Draw the graph of y = x2 — 5x — 6 and hence solve X2 — 5x — 14=0

44. a) Toget from pointAto point B you must avoid walking through a pond. You must
walk 34 m south and 41 m east. To the nearest meter, how many meter would
he saved if it were possible to make a way through the pond?

' ' (or) '
b’f\Draw a triangle ABC of BC=8cm

LA =60° i
at D such that BD = 6 o, 2 =60° and the bisector of ZA meets BC

N
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